Quiz 2 on Fractions

1) Describe a fraction in the space provided.

Numerator
Denominator

Important Parts
Whole Parts

Parts of Interest
Total Number of Parts

or or

2) Write a fraction describing one player on a ten-player basketball team.

10
3) Write a fraction describing the five starting 5 _5+5 1
players on a ten-player basketball team. 10 7 10+5 7~ 2
Write each fraction as an equivalent fraction with the given denominator.
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5) Write 8/2 as a whole number. 6) Write 15-3 as a mixed number.

8+2_4=4

8
s =4 or 2277

17/5=3R2and ¥ =32

equivalent fraction so that all have the same denominator.

7) Arrange the following fractions in ascending (increasing) order. Hint: Change each to an

1/5 = 20/100 1/20=5/100 1/4=25/100 1/25=4/100
1/25, 1/20, 1/5, 1/4
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25) Find the total weight of packages weighing |(26) Joan spendsj—1 of her 6% hours of study
5;- pounds, 9% pounds, and 7% pounds. time doing history. How many hours
does she study history?
1, a2
-xB%
1 1x6 6 4 d
55 =5+ ﬁ = 56 o by
+ 92-94+24_98 ]
el T7 ST
_ 1x20
L% =7+3%3 =_?_1_%1 e
212 =221 pounds =%
=12
=11
=12
=15 hours
27) How many 2% foot bookshelves can be 28) A well-done roast beef should cook for %
made from a 10-foot board? of an hour per pound. How long should
104 a 51 pound roast cook if it is to be well-
= donze’?
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